	DEFENSIVE AND COMPETITIVE BIDDING
	
	LEADS AND SIGNALS
	
	W B F CONVENTION CARD

	OVERCALLS (Style: Responses: 1 / 2  Level; Reopening)
	
	OPENING LEADS STYLE
	
	

	1§-p-1NT-? how after strong NT
	
	
	Lead
	In Partner’s Suit
	
	CATEGORY:  i.e. Green 1&2/ Red 3&4 
	[image: image1.png]




	1§-p-1©/ª-? 1NT=4+m & 5+M, 2©/ª=nat, dbl=4M&4+m
	
	Suit
	AKx, AK sec (rusinov), UDCA-mod
	3-5, xx
	
	NCBO:  PL 05352 & PL 05353 (POLAND)
	

	
	
	NT
	UDCA-mod
	3-5, xx
	
	PLAYERS:   Ewa & Olgierd Rodziewicz-Bielewicz

	
	
	Subseq
	AKW10, K109 >10
	
	
	EVENT (Open/Mixt//Transnational) 

	
	
	Other: H10x | H98x | K – ask adblocking or quantity (NT)
	
	World Bridge Series 2022 - Wrocław

	
	
	further procedure: low > encourages, high > discourages
	
	

	1NT OVERCALL (2nd/4th Live; Responses; Reopening)
	
	LEADS - only the first!
	
	SYSTEM SUMMARY (POPIS)

	15+ - 18 PH  | 11-15 PH in 4th
	
	Lead
	Vs. Suit
	Vs. NT
	
	

	
	
	Ace
	short
	Ask for the honnor
	
	GENERAL APPROACH AND STYLE

	1ª - p – p – 1NT – p - ? 
	
	King
	AKx, KD, Kx
	K – ask adblocking or quantity (NT)
	
	

	2§ > ¨, 2¨ > ©, 2© > ª, 2ª > 4© ps. this diagram also after: 2©/ª - 2NT, 1©/ª - 1NT
	
	Queen
	KQx, QJ, Qx
	QJ10, KQxx
	
	Two different systems 
depending on the bidding position

	1§-1NT-dbl-? rdbl=§ or 4-4 not §, 2§=4§&4any, 2¨/ª=nat.
	
	Jack
	QJx, QJ, Qx
	J10x
	
	2/1 GF in 1&2: 1§=2+, 1¨=4+. 1NT 11-14 

	JUMP OVERCALLS (Style; Responses; Unusual NT) 
	
	10
	J10x, J10, Jx
	HJ10, H109
	
	Polish Club mod. in 3&4: 1§ “PC”, 1¨=4+, 1NT=14-16 

	preemptive
	
	9
	109x
	109x
	
	

	
	
	Hi-X
	Hxx, xxx+
	Hxx, xxx+
	
	a lot of transfers

	
	
	Lo-X
	H xxx+, xx+
	H xxx+, xx+
	
	“Italian” style in the approach to the slam zone

	Reopen: balance
	
	SIGNALS IN ORDER OF PRIORITY
	
	

	DIRECT & JUMP CUE BIDS (Style; Response; Reopen)
	
	
	Partner’s Lead
	Declarer’s Lead
	Discarding
	
	SPECIAL BIDS THAT MAY REQUIRE DEFENSE

	Ghestem Style: 1¨-2¨> both M, 2NT > §©, 3§ > §ª
	
	1
	Hi – non interesting
	count
	Direct (lo)
	
	

	1©-2© > §ª, 3§ > ¨ª, 2NT both m
	
	Suit 2
	
	
	
	
	1§ (opening) > our bids

	2¨ - 4§/4¨ lapping w. 5(, 2/3©/ª - 4§/4¨ lapping
	
	3
	
	
	
	
	Dbl = 4M & 4+ any

	Jump cue-bid > ask for the stopper
	
	1
	
	count
	
	
	1¨ = 5+ hearts

	VS. NT (vs. Strong/Weak; Reopening;PH)
	
	NT 2
	Lo- interesting
	
	Direct (lo)
	
	1© = 5+ spades 

	Strong: dbl 4M & 5+ other, 2§/¨ 4+ & 5M
	
	3
	
	
	
	
	1ª = 4+4+ minors

	
	
	Signals (including Trumps): 
	
	

	Weak: dbl > forceful, 2§ > Lundy, 2¨ > Multi
	
	reverse lavinthal ! direct signal (small)
	
	1§- artificial responses (transfers, fits, bal. hand) 2ª-11-12 bal.

	Same p – p – 1NT - ?
	
	Smit’s echo
	
	1¨- artificial responses (transfers, fits, bal. hand) 2©-5©4ª week

	
	
	DOUBLES
	
	1©/ª - Bergen-type responses

	1NT-p-p-? rdbl=§ or 4-4 not §, 2§=4§&4any, 2¨/ª=nat.
	
	
	
	2§ - weak 5+ diamonds or any G.F. 1&2

	VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids)
	
	TAKEOUT DOUBLES (Style; Responses; Reopening)
	
	2¨-Multi

	standard
	
	wherever hands are not defined
	
	

	But p-p-4©/ª-dbl penal !!
	
	1ª-dbl-3ª- dbl (T/O), 1ª-2§-3ª-dbl (T/O), 1§-p-1©-2¨-dbl (15+ PH t/o)
	
	In 3: 2§/ª = 4-13 PH 5+ any distribution

	
	
	Negative bid after our takeout dbls > 1©-dble-1ª= 0-7 any or ª 8-10
	
	

	VS. ARTIFICIAL STRONG OPENINGS- i.e. 1( or 2(
	
	Diagram: §>¨, ¨>©, ©>ª, ª>NT, 2§>¨, 2¨>2©, 2©/ª>2NT (L)
	
	SPECIAL FORCING PASS SEQUENCES

	1NT= any 5-5
	
	SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS
	
	standard with the advantage of power

	
	
	“Anti-double” = not H in our suite, “PASS” = H, only level 2&3
	
	

	
	
	Splinter-double = lead in major suite !
	
	

	OVER OPPONENTS’ TAKEOUT DOUBLE
	
	Double M.cue-bid (1¨-2¨-dbl) = forcing pass sequences
	
	IMPORTANT NOTES

	Rdbl=strong, transfers
	
	Lightner’s dbl
	
	any deviation in composition and strength possible 

	
	
	Attacking-defensive dbl
	
	

	
	
	Antidote: 1NT-p-2§-dbl-? PASS=not stoper §, 2¨/ª with stoper
	
	PSYCHICS: so in standard situations, also 1NT in third pos.


	OPENING
	    TICK IF

ARTIFICIAL 
	MIN. NO. OF CARDS
	NEG.DBL THRU
	1st & 2nd position opening system

	
	
	
	
	DESCRIPTION
	RESPONSES
	SUBSEQUENT ACTION
	COMPETITIVE & PASSED HAND BIDDING

	1(
	
	2 +
	high
	15-19 bal, or 11+ unbalanced
	1¨=©, 1©=ª, 1ª=0-10 bal or 5+¨GF, 2§=11+ fir
	1§-1¨-1© asking bid! 
	1§-dbl-? transfers

	
	
	
	
	
	1NT=6+M, 3-7 PH, 2©=5+§, 8-10 PH, 2ª=11-12 bal, 2NT=16+, 3§=weak, 3©/ª/NT= 13-15 bal
	1§-1©-1/2NT-? often transfers
	

	1(
	
	4
	high
	15-19 bal, or 11+ unbalanced
	2¨=11+PH fit, 2©=5©4ª weak, 1©=ª, 1ª=©
	1¨-1©-1ª=©, 1¨-1©-3©=15-17 fit ª
	1¨-dbl-? 1©=ª, 1ª=NT, 1NT=©

	
	
	
	
	
	
	
	

	1(
	
	5
	high
	11+
	1NT=F1, if fit 3-7 or 11-12 bal, 2§=any GF
	1©-1NT-2ª=any GF
	1©-dbl-? 1NT,2§, 2¨> transf.

	
	
	
	
	
	2ª=fit +shortness, 2NT=fit+ª or 11-12 fit4 bal,
	
	1©-2¨op-? 2NT=fit inv. 3¨=GF

	1(
	
	5
	high
	11+
	3§=fit 3, invitational, 3¨=mixed, 3ª=11-13 any
	1ª-1NT-? 2¨=©, 2©=6+ª, 2ª=6+ 13-15 ph
	

	INT
	
	
	
	
	2§=stay., 2¨=any GF, 2©/ª=to play, 2NT=nat
	1NT-2§-2¨-? 2©/ª=5+ invitation
	1NT-dbl-? 2§=§or not §, 

	
	
	
	
	
	3§/¨=to play, 3©/ª=short, 4§=©, 4¨=ª, 4©=nat
	
	Rdbl=strong, 2¨/ª=nat.

	2(
	yes
	0
	
	Week 6(5) ¨or any G.F.s
	2/3¨= to play if ¨, 2NT=asking, 2©/ª= nat. F1
	
	

	
	
	
	
	
	
	
	

	2(
	yes
	0
	
	22-23 bal or week 6(5) © or ª
	2©/ª=pas or cor., 2NT=asking* 3¨/©=fit
	
	1NT-p-2¨-dbl-? pas=not stoper¨

	
	
	
	
	
	* (3§>©, 3¨>ª, 3©> only 5© 
	
	

	2(
	
	5
	
	5-9 PH 5© & 4+ m
	2ª=nat NF, 2NT=asking, 3¨=interesting fit M
	
	

	
	
	
	
	
	4§/¨=pass or cor. 
	
	

	2(
	
	5
	
	5-9 PH 5ª & 4+ m
	3©=nat. NF
	
	

	
	
	
	
	
	
	
	

	2NT
	
	
	
	20-21 bal.
	3§=simplyS, 3ª=§, 4§=¨, 4¨=boat M, 4©=short
	2NT-3¨-3©=fit 3
	

	
	
	
	
	
	
	2NT-3§-3¨-3©/ª =smolen
	

	3(
	
	7 (6)
	
	preemptive
	3¨=art. GF fit
	2NT-3§-3©-3ª= art. support ©
	

	3(
	
	7
	
	preemptive
	4§=art, GF fit
	
	

	3(
	
	7
	
	preemptive
	
	
	

	3(
	
	7
	
	preemptive
	
	
	

	
	
	
	
	
	
	
	

	3NT
	
	
	
	Preemptive 7+ m, not AKD !
	4§/¨=pas or cor. 
	
	

	
	
	
	
	
	
	
	

	4(
	
	0
	
	7+  ©, good suit
	
	
	

	4(
	
	0
	
	7+  ª, good suit
	
	
	

	4(
	
	7
	
	7+
	
	
	

	4(
	
	7
	
	7+
	
	
	

	4NT
	
	
	
	5-6 m
	
	
	

	5(
	
	7
	
	to play
	
	HIGH LEVEL BIDDING

	5(
	
	7
	
	to play
	
	RCB 5 kays + Q, OSW, picking up the splinter – exclusion,

	5(
	
	7
	
	
	
	RCB (§) > 4¨, RCB (¨) > 4©, 5NT Turbo if not RCB, 

	5(
	
	7
	
	
	
	5NT with jump > choose a slam

	
	
	
	
	
	
	4NT with jump > invites

	
	
	
	
	
	
	the last bid > last train or cue-bid substitutes

	
	
	
	
	
	
	


	OPENING
	    TICK IF

ARTIFICIAL 
	MIN. NO. OF CARDS
	NEG.DBL THRU
	3 & 4 position opening system

	
	
	
	
	DESCRIPTION
	RESPONSES
	SUBSEQUENT ACTION
	COMPETITIVE & PASSED HAND BIDDING

	1(
	yes
	0
	
	a/ 11-13 bal. b/ 17+ any, 
	natural and simple, 2©/ª = 6-4 M
	
	p-p-1§-dbl-? 2©/ª = 6-4M

	
	
	
	
	c/ 5§4ª 11+
	
	
	

	1(
	
	4
	
	standard, third position
	natural and simple, 2©=5ª-4©
	
	p-p-1¨-dbl-? 2©= 5+ª 4+©

	
	
	
	
	also the order of leed
	
	
	

	1(
	
	5 (4)
	
	standard, third position
	2§=drury fit, 2¨=fit 4+, 2ª=fit 4 & any shortness,
	
	p-p-1©-dbl-? 2ª=any short, 2NT

	
	
	
	
	also the order of leed
	2NT= 5+ª&4©
	
	= 5ª&fit or fit 4, 3/4§/¨= 5+&fi

	1(
	
	5 (4)
	
	standard, third position
	
	
	p-p-1ª-dbl-? 2NT=sort, 3©=fit4+

	INT
	
	
	
	14-16, possible tactical bid
	2NT= nat., 2ª=§, 3§=¨, 3¨=nat, inv., 3©/ª=sho.
	
	p-p-1NT-dbl-? Stay+JTB

	
	
	
	
	
	
	
	

	2(
	
	5
	
	5-13 PH 5+ & any distribution*
	natural and simple
	
	

	
	
	
	
	
	
	
	

	2(
	
	5
	
	5-13 PH 5+ & any distribution*
	natural and simple
	
	

	
	
	
	
	
	
	
	

	2(
	
	5
	
	5-13 PH 5+ & any distribution*
	natural and simple
	
	

	
	
	
	
	
	
	
	

	2(
	
	5
	
	5-13 PH 5+ & any distribution*
	natural and simple
	
	

	
	
	
	
	* in 4 = 6+ 11-14 in standard
	
	
	

	2NT
	
	
	
	20-21
	same 
	
	

	
	
	
	
	
	
	
	

	3(
	
	6
	
	tactical
	
	
	

	3(
	
	6
	
	tactical
	
	
	

	3(
	
	6
	
	tactical
	
	
	

	3(
	
	6
	
	tactical
	
	
	

	
	
	
	
	
	
	
	

	3NT
	
	
	
	To play
	
	
	

	
	
	
	
	
	
	
	

	4(
	
	7
	
	tactical
	
	
	

	4(
	
	7
	
	tactical
	
	list of conventions

	4(
	
	7
	
	To play
	
	2WCHB-mod, transfers, lebensohl, antidote (double gadget), Bergen mod, Drury, 

	4(
	
	7
	
	To play
	
	OSW, kick-back RCB, exclusive RCB, Turbo (5NT), waiting bids, aniti-double, 

	4NT
	
	
	
	
	
	

	5(
	
	
	
	
	
	Transfers ect.

	5(
	
	
	
	
	
	1§/¨-2ª op - ? 3§/¨/© = transf. 3ª=ask stoper

	5(
	
	
	
	
	
	1NT - 2ª op - ? 2NT = §, 3§/¨=transf., 3©=ask stoper, 3ª=4©&+stoper

	5(
	
	
	
	
	
	1NT-2§-? Dbl=stayman, 2¨/©=transf.

	
	
	
	
	
	
	1NT-2¨ (multi) -? Dbl=strong, 2©/ª/NT/3§/¨= nat

	
	
	
	
	
	
	1NT-2¨ (nat) - ? 2NT=§, 3§=©, 3©=ª, 3¨= ask stoper

	
	
	
	
	
	
	


